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Figure 2: An Uncertain Centipede game

in class. If player 1 is altruistic, he dislikes playing s (stop) and suffers a payoff
disutility of −2 to whatever monetary payoffs he gets. This generates the indicated
payoff structure. Assume λ ∈ (0, 1).

(a) Solve for the subgame perfect equilibrium (hint: it depends on λ).

(b) Find the sequential equilibrium profile and beliefs (again, varies with λ).

(c) What do you conclude about sequential equilibrium play and associated beliefs
at each of the three decision nodes in the “Selfish” portion of the game tree
as λ→ 1? Interpret.

6. MWG 9.C.7. (Note: for part (c) assume p ∈
(
1
2
, 2
3

)
.)

7. Consider a game in which the following stage game is twice repeated.

L C R
T 10,10 2,8 -5,13
M 8,2 5,5 0,0
B 13,-5 0,0 1,1

Let δ = 1. Construct a SPNE in which the players choose (T, L) in t = 1 and
(M,M) in t = 2.

8. Consider a market with linear inverse market demand, P (Q) = a − Q. (Demand
given price p is max{0, a − p}.) Assume there are n firms, with zero costs of
production.

(a) Repeated Bertrand Oligopoly: Suppose that the stage game is Bertrand price
competition. In an infinitely repeated game, how high must the discount
factor be in order for firms to “collude” on all choosing the monopoly price in
every period by using Nash reversion strategies?

(b) Repeated Cournot Oligopoly: Now suppose the stage game is Cournot quan-
tity competition. Again, in the infinitely repeated game, how high must the
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